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I. Answer the given Multiple Choice Questions                                                  ( ½  x 12=  6 )                                  

a. 34000 m = __________    km 34  340  3400 

b. In   𝟓𝟓
𝟏𝟏𝟏𝟏

 ,  the denominator is  5 17 1 

c.  𝟓𝟓
𝟓𝟓
  is equal to  quarter One whole half 

d. 11
19

                            15
19

  = < > 

e. 𝟏𝟏
𝟓𝟓
   is equal to  2

10
 

1
10

           3
10

    

f. One - sixth  6
1

 
1
6

 
6
6

 

g.  𝟑𝟑
𝟒𝟒
    =     

𝟏𝟏𝟏𝟏
   6 9 12 

h. 1 m = _______________ cm 1000 100 10 

i. 96 km = ______________ m 960 96000 9600 

j. The unit to measure the distance 
   between two cities  m km cm 

k.7002 cm = __________ 7 m 2 cm 70 m 20 cm 70 m 2 cm 

l. 5 km 435 m = _________ m  5435 m 50435 m 5535 m 

 

 

 

 



 

II.  Match the following .                                                                                      ( ½  x 4 = 2 ) 

1. 100 cm a.  cm 

2. 1
4 

    of   24 is  b.  50 cm 

        𝟑𝟑. 
 

1
2 
   of a metre is equal to c.  1 m 

   4. 
 

The unit of length used to measure a     
pencil 

d.  
 

6 
 

   
 

III.  Read the given instructions carefully and solve .                                          (1 x 6 = 6 ) 

a. Arrange the fractions in ascending order. 
10
15

 , 6
15

 , 1
15

 , 11
15

  

b. Write two equivalent fractions for the given fraction -      57  

c.   i)  Subtract    
17
21

   -     7
21

             ii)  Add   
5
31

    +  7
31

  +  1
31

   

d. Convert the following.  

i) 5 m 32 cm  into  cm                  ii)  4 km 120 m  into  m 

e. Add  

372 m 25 cm      :      52 m 36 cm       :       24 m 40 cm 

f. Subtract  

43 km 350 m      from        65 km 750 m 

 

IV.  Read understand and solve .                                                                           ( 2 x 2 = 4 ) 

a.   Reena had 30 chocolates . She ate  1
5
   of them. How many chocolates are left with 

  her? 
b.    The length of the red ribbon is 41 m 55 cm. The length of the green ribbon is  

  21 m 95 cm .Which ribbon is longer and by how much? 

   

V.   Read, think and answer the questions.                                                             ( 2 x 1 =2 ) 

     1.    If something is divided into four equal parts, what is  each part  called ? 

     2.    If 2 m 50 cm is added to itself , what is the answer ?  


